Descnptlon And Uses Of Slide Rule

This slide rule is & pr mads
sonstruction:  This Insures more oficient and Gure

nt of the well known C-Thru laminated
service.

Th- engineer, lrchlkmt, ‘businessman, student, t
ready ¢ companios alcuiubla service In solving supidly. problems Havolviag. muliiplc
cation, dlvl-l lon, squares, luulu roots, cube, cube roots, proportio: combinations of these
Processes and logarithmical and trigonometrical functions, .- s —~

Added features to be found on this slide Fule are the deolmal equivalents, squivalents-
settings and a rule with both inch and metric scal

cher and sclontist will find this ever-

The jbility to read the graduations of the siide rule rapldly and correctly, which can
be accomplished by actual practice, make this a practical and Indespensable instrument.

ales C and D are identioal and are numbered from 1 to 10, the ®aces Becwoen the

sing steadily toward the right. The C and D s o multi-

Diioation, division and thelr combinatlons. On scalos C AR D It 1 At the extrema. ot 1s tosm
3 unity then 1 at the extreme right of these scales is 10.

~ SCAIeS A &nd D-are Used for SqUATING-ana-finding the square TOOtE-of numbers——

e C1 scale gives the reciprocal of any mumber on the scale C. The C1 scale is the O
scale in reverse dirsction.

d B scales are identical.
unity, then 1 in the middle of the scal

On scales A If 1 at the extreme left is taken as
gt right is 100.

Simple Examples And Directions For Using Slide Rule

TO READ SCALES: Gradustions on the siide rule represont flgures and not meamres
of length. To find a number rst figure to the left on the prime line, the
Second tigure of the Tumber On the sccondary lue 1o the riEht theresk. and he T figure on
the subdivision. Thus to read 366, prime 3 secondary 6 and subdivision 6.

TO LOCATE DECIMAL POINT: In most cases round numbers should be substituted for
those appearing In problem and determine the correct position of the decimal point by
approximation. Where this is not practical a rough arithmetical calculation will locate the ‘
decimal point.

MULTIPLY 2 X

TO M Opposite 2 on scale D et 1 on soals C. Then movs tho Indicator
~— %o that the hair line Is ove: 'y below

"Ghils 4 You will Tind 3. the anawer.

TO DIVIDE 8 +
you come to 1 at the

Opposite 8 on scale D, set 4 on scale C. Look along C to lett untiy
nd of the slide. Under this 1 you will find 2, the answer o

TO SQUARE 9: Set the hair line of runner at 9 on scale D and read 81 under hair line
on scale A.

TO FIND SQUAKE ROOT OF 25: Set hair line of runner to 26 on scale A, Under hatr
1ine on scale D you will find the answer which is 6.

ND_CUBE OF 8: Set 1 of scal
e Tl 17 on st &

- c

D. Opposite 3 on scale B read

0 the back of the slide ia shown an § (Sine) soale, an L (Logarithm) scale and a T
hese are used In solving trigonometrical problems. Logarithms of numbers
an be read to three figures with the &id of the halr line of the runner, on

rule s confined to multiplication and division. If the beginner
Dhase of its operation he will have no difficulty in solving the




